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QUESTION 1

If OCh trails fail to be created by trail, which are the possible causes?

A. There are still alarms that are not cleared on the boards involved in the OCh.
B. The wavelength settings at the source and sink ends are inconsistent.

C. Some fibers are not connected.

D. There is no server trail.

Correct Answer: A

QUESTION 2

Which of the following residual dispersion values are within the dispersion tolerance of the TN52ND2 board?
A. 900ps/nm

B. 500ps/nm

C. 700ps/nm

D. 600ps/nm

Correct Answer: D

QUESTION 3

Which of the following Optical NE types are defined in U20007?
A. WDM_OEQ

B. WDM_OTM

C. WDM_OLA

D. WDM OADM

Correct Answer: A

QUESTION 4
Which of the following statements about Flexible ROADM is incorrect?
A. Improves spectrum utilization and meets the requirements for flexible scheduling in the 100 Gbit/s era.

B. Flexible ROADM is compatible with existing networks.
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C. The WSMD2 board supports the Flexible ROADM configuration.
D. The Flexible grid technology can flexibly set bandwidth and support flexible bandwidth allocation and scheduling.

Correct Answer: D

QUESTION 5

Which of the following is approximately equal to 100mw?
A. 13dBm

B. 20dBm

C. 15dBm

D. 10dBm

Correct Answer: B
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